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1 The first semester begins in August and ends in

December in America.

@ When will you leave for New York?

® My friend John lives from hand to mouth.

@ | have to study hard to pass the entrance exam.

B Where did you live two years ago?

® After his long journey from New York, he finally

arrived in Chicago.

@ Mary had to go to the doctor's office for her

regular check-up.

When did she graduate from the University of

Wisconsin.

® What time did your father go to bed last night?

You'd better do like a student.
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1 As chemists began to discover new elements, they

found that certain elements behaved similarity.

@ Glaciers are existed today in most northern regions
of North America.

® Diamonds have been occurred in every shade of
the rainbow and value for their extreme rarity.

@ Although the life style of Alaskans has changed
considerable, their dogs are still popular, especially
for racing.

® Many people are left in search of missing children
in the camping area.

® The train from Chicago will arrive the Union
Station.

@ The pickup truck pulled up on the roadside, and a
farmer was stepped out.

For two years, the beggars were wandered all over
the country.

© | stopped a cup of coffee on the way to the post
office.

The restaurant at the corner is usually opend at six



in the morning.
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linear and

principal types of acceleration:

(92/5 TOEFL)

©

angular.

(b) Two of them
(d) Two

(a) There are two
(c) The two

in the

@ During an eclipse of the Sun,



shadow of the Moon. (91/8 TOEFL)

(a) the Earth lies (b) the Earth when lying
(c) that the Earth lies (d) the lying Earth

® His friends about his rude attitude.
(a) talked (b) said
(c) discussed (d) mentioned
@ On the way home, | stopped at the street
corner.
(a) smoke (b) smoking
(c) to smok (d) smoked

® More than two thousand people of hunger
in Uganda.
(a) death (b) died
(c) is died (d) dying

* 2HHCZUL Q04 HEX ¥2 AE L2

® My uncle (a)used to (b)set on the (c)wooden
bench (d)over there.

@ The plane (a)from Boston will (b)arrive Seattle
(c)thirty minutes (d)later.

(a)As soon as the old man (b)got up, | (c)went
the peer (d)to fish.

© (a)Yesterday a foreigner (b)spoke me (c)in English
(d)in a subway train.

(a)While she (b)was in Sacramento, she (c)stayed
her sister's house (d)downtown.



